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Problem I/1:

Referring to Figure I: f

EI=1,000,000 kN.m* throughout the beam (except in Question 3).

w=25 kN/m and P=100 kN throughout the problem. \__/ '
Neglect the own weight of the beam. \l

1. USING THE MOMENT-AREA METHOD

Compute the slopes at C and D (& and &) and the vertical deflections at B, C and E (v, v¢
and vg). You can calculate slopes and deflection in whichever order you find suitable. (50
points)

Based on the results obtained, sketch the final deflected shape. (10 points) []/ :

Calculations and Diagrams: w-95
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Calculations and/or Diagrams (cont’d); 4_) d Lr@
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Clcb
Calculations and/or Diagrams (cont’d): ]/
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2. USING THE CONJUGATE BEAM METHOD
Compute the maximum downward deflection between A and C. (30 points)

Calculations and/or Diagrams (cont’d):
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3. For the same beam and loads applied as in Figure I, and assuming member AC or member [
CE to be very stiff, sketch the expected deflected shape of the beam for each of the cases as
shown below. (NO CALCULATIONS) (10 points)

Deflected Shapes:
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